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MATHCMATICS

By Pradeep Sir

Q. 2) Find the value of the given expression.
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Q. 3) Ravi initially used to save 20% of his monthly
income. Recently his monthly income was raised by 25%.

His nominal savings also went up by 5%. What

I & F = percentage of his present nominal income does Ravi
currently save?
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Q. 4) Which of the following is the least?
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Q. 7) At what rate percent per annum simple interest, a
sum of money triples itself in 16 years?
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(a) 11.5%

(b) 11%

c) 12%
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Q. 10) 4 men’'s work is equal to 6 women’'s work, and 4

women's work is equal to 6 boys’ work. A boy can finish

the work in 60 days. In how many days can the work be

finished by a man and a woman together?
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D= heom Q. 12) A policeman saw a thief at a distance of 400 m.
The thief started running at a speed of 10 km/h and the

< = S kmlh policeman chased him at a speed of 12 km/h in the same
R * direction. At what distance from the starting point will

the pollceman catch the thief?
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Q. 14) Ifxz—Bx—1=0,whatisthevalueofx2+$?
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Q. 17) There are two circles that touch each other

externally. Radius of the first circle with centre O is 12

cm. Radius of the second circle with centre A is 8 cm.

Find the length of their common tangent BC.
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(a) 6v6 cm

(b) 8¥2 cm

c) 8v3 cm
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0. 18) In A ABC, DE || BC and% =§. If DE = 12 cm,
find the length of BC. A ABC,DE | BCand = =2

af2 DE = 12 A 2, A BC A ofaTé 31a FT
(a)48 cm — —
(b) 12 cm
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Q. 19) In the given figure, 0 is the centre of the circle

and £AOB = 130° Find LAPB .
%’Wﬁ'ﬁﬁ oqﬂm%w%ah?mos— 130° B ZAPB
a) 95°
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(c) 110°

(d) 100°
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Q. 21) If the slant height of a cone is 60 cm and the
radius of its base is 21 cm , then find its curved surface

area.
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Q. 22) The value of cosec30° — cos 60° is:
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Q. 23) If CosA + Cos*A =1, then the value of sin*A4 +
sin®A_ is:
af CosA + Cos? A =18, @ sin* A +sin® A BTHM B:

In:/o: A




MATHECMATICS By Pradeep Sir

india's FDI (Millions of Euros) Q. 24) The following bar chart shows the trends of
31.36 foreign direct investment (FDI) into India from all over

the world.
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What was the average of Indian's FDI over the years

1015 1 70.2; 1992-1995 (rounded off to the nearest integer)?
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SRLLIEL UL IR O, 25) The following table shows the percentage of

|Females . .
Percentage of ———— — population of five states below poverty line and the

Population |Below Poverty|, = .. proportion of males and females below and above
Below Line : > .
Line ove line.
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(a) 720 (b) 750
VS” (c) 740 (d) 780




